
Spiel 1 Spiel 2 Gesamt

Spiel 10 11:14 J 1 FURTLEHNER Roland 58 + 51 = 109 #

J 2 KÖCK Ernst 49 + 56 = 105

Spiel 11 11:22 K 1 SEIBERT Günter 55 + 55 = 110

K 2 HÖBARTH Rosa 55 + 55 = 110

Spiel 12 11:30 L 1 ABENTEUER Christian 56 + 52 = 108 O

L 2 STOLZ Martin 53 + 56 = 109 #

Spiel 13 11:38 J 2 KÖCK Ernst 58 + 58 = 116 #

J 3 ORTMAYR Walter 50 + 56 = 106 #

Spiel 14 11:45 K 2 HÖBARTH Rosa 47 + 60 = 107 O

K 3 STOLZ Raphael 51 + 51 = 102 #

Spiel 15 11:53 L 2 STOLZ Martin 59 + 58 = 117 # # O

L 3 GRÜNBERGER Markus 45 + 45 = 90

Spiel 16 12:02 J 3 ORTMAYR Walter 53 + 61 = 114

J 1 FURTLEHNER Roland 55 + 55 = 110 # #

Spiel 17 12:10 K 3 STOLZ Raphael 55 + 43 = 98

K 1 SEIBERT Günter 51 + 53 = 104 # #

Spiel 18 12:19 L 3 GRÜNBERGER Markus 60 + 49 = 109 O O

L 1 ABENTEUER Christian 48 + 45 = 93 #


